Logaritmické rovnice
Logaritmické rovnice typu ,,logaritmus = €islo“
1) logsx=3

2) log,(x+3)=2

3) log,(2x)=4

4) log,3+log,(5x)=4

5) log0,1+log(2x)=1

6) log, x+log,27=1

7) logl1000=4—-logx

8) 2logx=1

9) 3log,x=1

10) logx—log2 =3

11) log, (2x)—log,8=1

12) log (3x)=2+1log6

13) log, (x—2)+log, (2x+1) =2
14) log(7x + 6) =1+ log(3x —4)
15) log, (x+1)=1—-log, (x+3)



Reseni

1))

log, x=3

x=5

x =125 vyhovuje
P= {125}

2)
log4(x+3):2
x+3=4
x+3=16

x =13 vyhovuje
P:{13}

3)
log, (2x) =4

2x=3"
x =40,5 vyhovuje
P= {40,5}

4)
log, 3+log, (5x) =4

log, (15x) =4
15x =2*

x—E hovuje

15 vy 3
p:{E
15

S)
log0,1+log(2x)=1

log(0,1-2x)=1
log(0,2x)=1
0,2x=10'

x =50 vyhovuje
P ={50}



6)
log, x +log, 27 =1

log, (27x) =1

27x =3
1
X= 3 vyhovuje
pe {1}
9
7

log1000 =4 —log x
log1000 + log x = 4
log (1000x) =4
1000x = 10"

x =10 vyhovuje
P={10}

8)
2logx=1/:2
1
logx=—
8 2

1

x=10?
x=+/10 vyhovuje

P={10}



10)
logx—log2=3

X
log—=3
g2

=10°

X
2
x=2000 vyhovuje
P= {2000}

11)
log, (2x)—log,8=1
2x

logz? =1

2_x=21
8

2x=16
x =8 vyhovuje
P={8]

12)
log(3x)=2+1log6

log(3x)—log6=2

x =200 vyhovuje
P ={200}



13)
log, (x—2)+log, (2x+1) =2

logs [ (x—2)(2x+1)]=2
(x—2)(2x+1)=5"
2x° +x—4x—2=25

2x* =3x-27=0
D=0 —4ac=(-3) —4-2-(-27) =225
L —(3)+v225 9
o220 2
e o) e 22 B

2.2

Vyhovuje pouze x = %

-

14)
log(7x+6)=1+log(3x—4)
log(7x+6)—log(3x—4)=1
Tx+6 _
3x—-4
Tx+6
3x—-4
7x+6=30x-40
—23x =-46 /:(-23)
x =2 vyhovuje
P={2j

log 1

=10 /-3x-4




1)=1-log, (x+3)
1)+log,(x+3)=1
(x+1)(x+3)]=1
(x+1)(x+3)=3

X +3x+x+3=3

+
+

X' +4x=0
x(x+4)=0

x,=0 x,=—4
Vyhovuje pouzex, =0
P={0}



